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Question Number : 1 Question Id : 9717421778 Question Type: MCQ
Correct Marks: 1

Which is the popular folk dance of Himachal Pradesh performed during the Dussehra festivities?
AT DOCOIVES” DEBYOLSEID SPATIS PBT CIVE), VITD BPADG B0 IO?

Options:
Kalbelia

1 « éeja@)cdjﬂ (Kalbelia)

Chhau
? % < (Chhau)

Charba

3 o 0% (Charba)

Ghumar

4. & Doarswd (Ghumar)

Question Number : 2 Question Id : 9717421780 Question Type: MCQ
Correct Marks: 1

Which part of Prakrit language was widely used to write dramas in the northern medieval India?

ES0 DEH{OINM POBBF0S” TLS VR FONTIS D Fr5)S 20 DPYBOTP EDOITNOSIEDE?

Options:
Pali

1. & a9

Elu
7 % Dewr

Paishachi

3 & 2T



Shauraseni

4 ¢ FTORD

Question Number : 3 Question Id : 9717421779 Question Type: MCQ
Correct Marks: 1

Who among the following is associated with Ghazals?

08 065" (faued O DoeIHODN T Dot ?
Options:
Shanno Khurana

1 = ?QS;}L T

Amir Khusrau

7w a6 and’

Begum Akhtar
3. v EaﬁD @56

Bade Gulam Ali Khan

4w && thero e9d) arD

Question Number : 4 Question Id : 9717421775 Question Type: MCQ
Correct Marks: 1

Who wrote the book Discovery of India’?
C7),00 3D Qodasr T DD GDoer?

Options:
Mahatma Gandhi

1 = D), o

Jawaharlal Nehru

AR edaTrOeTed pTAT°



Lokmanya Bal Gangadhar Tilak
3 % S EQrRy ere (lorred Bod

Motilal Nehm

A % redered QT

Question Number : 5 Question Id : 9717421776 Question Type: MCQ
Correct Marks: 1

When was the anti-partition movement in Bengal initiated?

Sorredes” Dasansd DFABE EGHEDAD DY FO0EaD00H ?
Options:
7% September 1905

1 % 7 ®gowd 1905

8™ August 19053

9 % 8 e0go 1905

7% August 1905

9 7 etigo 1905

gth September 1905

A % 8®gows 1905

Question Number : 6 Question Id : 9717421777 Question Type: MCQ
Correct Marks: 1

Who laid the foundation of a Federation Hall to mark the indestructible unity of Bengal in 19057

1905 &5° &orres CB308), TR0 BODRESD DB PD0IEPDS DETID DS gvﬁmam DD ?

Options:



Ananda Mohan Bose

1. v 206 2575rd &5°0

Krishna Kumar Mitra
2 % S0 Soaed Dogr

Rabindranath Tagore

3 & ODoGTE Tird

Bipin Chandra Pal
A % DO Sog S

Question Number : 7 Question Id : 9717421772 Question Type: MCQ
Correct Marks: 1

What is the full form of GPS?
2.2.0 (GPS) o3ng), g 6w D3 ?

Options:
Group Positioning System

1 = grd Teidof Do

Global Positioning System

2] o 8_ .
2 o fFe2e5 Fandoh Do

General Positioning System

3y 20 Tandeh vo

Growth Positioning System

4 % gé TFandof 2o

Question Number : 8 Question Id : 9717421773 Question Type: MCQ



Correct Marks: 1
Which Kharif crop grows well in old alluvial soil?

areh 2,06 Deed” D DOD Doky EFTE DocHEIH ?
Options:
Wheat

1. % oo

Pulses

7 % E}E}_‘):] AENENOY

Maize

3 v msb@:’ F:)Q

Bajra

-

4.5 OB

Question Number : 9 Question Id : 9717421774 Question Type: MCQ
Correct Marks: 1

The drainage pattern resembling the branches of a tree is known as:

B 00E), Fa o I 6ol E0@ AP I 0rm?

Options:
Dendritic

1 v Goa®s

Radial
7 % BAADLS

Trellis

F.

3 % 8999



Centripetal
. % R0E30e5

Question Number : 10 Question Id : 9717421769 Question Type: MCQ
Correct Marks: 1

Which journal was started by the statistician Prasanta Chandra Mahalanobis in 1933?
(B0 TPRDE D08 5o sV DD 1933 &6° JrcoDodd DAL DH?

Options:
Golden Number

1%ﬁ§mm5

Navajivan

7 % DOBHR

Sankhya

3. v 0%

Silver Number

4 % i::-:;:sﬁ “Hoead

Question Number : 11 Question Id : 9717421770 Question Type: MCQ
Correct Marks: 1

Which of these was not a goal of the initial five vear plans?
236" HED DoBDG PEFPSL VL0 IO IB?

Options:
Growth

1. = DG

Development of defence

=
2 v G5ea T D)0



Modernisation

3w eCDAS0E

Self-reliance

4 = 5"5@@0&.}.‘;’3

Question Number : 12 Question Id : 9717421771 Question Type: MCQ
Correct Marks: 1

The Montreal Protocol banned the use of:
DroHoie TS5 DO GI0E), EDOITTED) DdoDod?

Options:
fertilizers

1. % DOTaben

chlorofluorocarbon

I 585@6663“da.5

plastic bags

7 % @ﬁﬁgé &g e

aluminium foil

4 % €227 DOD0T0 2roes

Question Number : 13 Question Id : 9717421766 Question Type: MCQ
Correct Marks: 1

Who wrote the book “Joothan: A Dalit’s Life’?
‘Preho: o) ﬁ@@g T @E’?ﬂi GOt )HE DOE?

Options:
B. R. Ambedkar

1. = ﬂ.fﬂﬁ.fﬂoﬁd&ﬁ



Morarji Desal

2 mg LFr00)

Omprakash Valmiki

9 , & pwa o) 3

Jaiprakash Narayan

A % BO5R TR0

Question Number : 14 Question Id : 9717421767 Question Type: MCQ
Correct Marks: 1

When was the Disabilities Act passed by the Government of India?
2POS PIDSLO VOMDEVY HEPDY JIDYED D Bolod?

Options:
1994

1. % 1994

1995
7« 1995

1996
3 % 1996

1997
4. = 1997

Question Number : 15 Question Id : 9717421768 Question Type: MCQ
Correct Marks: 1

Who appoints the Delimitation Commission of India?

PGB 3DHOEHRD SNV JDM DODF®?

Options:



The President

OFajeoed

(eE>

The Prime Minister

7 % LAY

The Vice President

&5 THROD

Members of the parliament

4 = PG00 WEjeD

Question Number : 16 Question Id : 9717421763 Question Type: MCQ
Correct Marks: 1

Recently it has been discovered at IIT Hyderabad that eco-friendly solar cells can be developed using:

ROH ITFOTEPS 0.0.6 &° DO &DArHo) DTICETE PG sotrew (Ders 2e5y) &0 DG DODDSND

a0 DeICHR T
Options:
Juglans Nigra

1 = ey S (Juglans Nigra)

Rhus Typhina

7 % ®D Bd7 (Rhus Typhina)

Indigofera

3 % modffaoe (Indigofera)

New Fuchsin

4 v SUAEGOUES (New Fuchsin)



Question Number : 17 Question Id : 9717421764 Question Type: MCQ
Correct Marks: 1

Who won the People’s Choice Award at the 2019 Revere Beach International Sand Sculpting Festival in United States?
e9200575" 2019 856 DS oBTAOD DEG IVYEV® B D0S" DIYSY 0D BTG TodJA JHW?

Options:
Dan Glover

1. % e ff' b
Sudarsan Pattnaik

3 0BG %“EJD;Lcmé

Jeroen Meijer

3w ZFH 036

Martin Rijerse
4. = 51)“95 5353

Question Number : 18 Question Id : 9717421765 Question Type: MCQ
Correct Marks: 1

Which one of these is a solid waste of high environmental concern generated during aluminium production process?
806 i, earriDNAO0 &ESND DO VIOV GO G BOS DIVIYELE DTDCMR DD Djgo BT

Options:
Red mud

1 W 20 meﬂ;

Oil and grease

7 % 50008 awbdoin Her

Suspended solids

RS o -, -,
3 % rJ;)Oﬁ e mé@mgw



particulates

P E’ i,
4 % £9ed R E), DD

Question Number : 19 Question Id : 9717421760 Question Type: MCQ
Correct Marks: 1

Which day is celebrated as Mohun Bagan Day?

DTS B &Se:@ﬁmn Q) Tar ataHotrdn?

Options:
29 July

1 « 29290

29 August

2 " 29 E:Sri;ﬁp

28 July
3 x 280

28 August

4 " 28 E:Sri;ﬁp

Question Number : 20 Question Id : 9717421761 Question Type: MCQ
Correct Marks: 1

Who won the gold medal at India Open boxing tournament in May 20197

20 2019 &° @otoir £ e840f 65°6) 065 & DY DBEADR W FRVHLEHT) D?

Options:
Manisha Moun

1. x 0DF IFD

MC Mary Kom
7 ¢ 0.2 b Eao



Vanlal Duati

7 = 5.3.5:'“&'5 GO

Simranjit Kaur

A w ~EORS 576

Question Number : 21 Question Id : 9717421762 Question Type: MCQ
Correct Marks: 1

Who won the gold medal in Women's 100 m in World Universiade, 3 0 Summer University Games held at Naples,
Italy in 2019?

2019 &° 2ede’D HPSS® DOETocetd VoD TR HIEDTHROITS® DOGEreD, 30 & DHD DIDT LD
S’ svarwe 100 m &° G DBS0 NI & JDWD?

Options:
Dutee Chand

1 v mééaoé

Del Ponte

7 % e o)

Lisa Kwa Yie

3« @)5“5“593

Hima Das

4. = rdoTER

Question Number : 22 Question Id : 9717421756 Question Type: MCQ
Correct Marks: 1

Who is the founder of World Hindu Economic Forum?

D0 aIPOGT® €598 DO (208 3o s T'0o) Ao Qﬂi}uaaﬁé DadD7?

Options:



Swami Dayanand Saraswati

1 = ﬁv&m GOIPR0E DO

Dalai Lama

7w OF orar

Swami Vigyananand

3 3"5&3 DFTDo

Dr Sriprakash Kothari
] x . 3o Eod

Question Number : 23 Question Id : 9717421757 Question Type: MCQ
Correct Marks: 1

What does PENCIL portal deal with?
285 (PENCIL) &7ges 8322 &5 SSinod?

Options:
Food for all children

1. = ereeonds esikco

Eradication of child labour

2 v AL E“EréEiJE_J ac&%mé

Vaccinations for all children

3. % ereoonds dsren

Home for all children

4 = eroeocd: Dordo

Question Number : 24 Question Id : 9717421758 Question Type: MCQ
Correct Marks: 1



Where was the ministerial meeting in 2019 of Coordinating Bureau of Non-Aligned Movement held?
Q00RO a8 9D TPO-e9T Y €:3[a0 CIVE) odaP DAFDIo 2019 &° Ig & 28H0d?

Options:
Azerbaijan

1. = @a‘a‘.gaaﬁué

Iran

Venezuela

3 v Ddeper

Egypt
4 = St

Question Number : 25 Question Id : 9717421759 Question Type: MCQ
Correct Marks: 1

Which is the first South Asian oil pipeline corridor?
CSEED €5DOIT C30E) AVEED €502085 POTD 586 I&?

Options:
Kazakhstan-China pipeline

1. % 523D~ BT POGI

Kovali-Mohanpura pipeline

9 % Eord - DrEESHT POGS

Mumbai-Manmad pipeline

3« D00H ~ SDTLE POTR



Motihari-Amlekhgunj pipeline

4 » r8rd-0DHiod POOD

General English
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Read the given passage and answer the questions that follow.

For long, the enrolment of girls in the mechanical engineering
programme has been a dismal 5-10% even among the top
engineering universities in India. On the contrary, female
enrolment in mechanical engineering in MIT, USA has gone
up from 10% in 2006 to 49.5% in 2016. The perception in India
is that it is a physically demanding sector, which involves
cutting metal on machines and forging a piece of metal with
heavy sledgehammers.

The mechanical engineering stream has changed drastically
in the last couple of decades. Most modern plants employ
computer-driven machines with increased automation on the
shop floor. Labour-intensive processes have been replaced by
machine-driven automatic control systems. Due to this, the
job requirements and skills have also undergone
transformation. The industry now requires engineers who are
capable of designing complex mechanical systems using
software tools.

As a result, workshop practicals in engineering institutions,
such as filing pieces of metal, manual welding, and working
on conventional lathes are being phased out of the syllabus.
The emphasis today is more on providing workshop training
on computer-controlled machines.

Sub questions

Question Number : 26 Question Id : 9717421802 Question Type: MCQ
Correct Marks: 1

Compared to the enrolment figures of the USA, the enrolment
of girls in the mechanical engineering programme in India is:



Options:

1. = encouraging

2. ® very encouraging

3. » admirable

4. v very bad and hopeless

Question Number : 27 Question Id : 9717421803 Question Type: MCQ
Correct Marks: 1

According to the passage, over a long period of time, the
enrolment of girls in the mechanical engineering programme
in India has:

Options:

1. = dramatically increased.

2. v remained more or less poor and low.

3. » dramatically decreased.

4. = been fluctuating between high and low rates.

Question Number : 28 Question Id : 9717421804 Question Type: MCQ
Correct Marks: 1

According to the writer of the passage, fewer girls in India
join the mechanical engineering programme mainly because:

Options:
1. = their parents do not want them to join this programme.

2. = the syllabus still requires the students to do manual
welding and use lathes.

3. v 1t is considered a physically demanding area that requires
physical strength and stamina.

4. = there is not much scope for employment for mechanical
engineers.

Question Number : 29 Question Id : 9717421805 Question Type: MCQ
Correct Marks: 1

Which of the following is NOT true according to the passage?

Options:



1. = Mechanical engineers should be able to design complex
mechanical systems using software tools.

2. v Mechanical engineering still involves forging metal with
heavy sledgehammers.

3. » The mechanical engineering syllabus in Indian
universities has changed recently.

4. » The mechanical engineering syllabus now emphasises
workshop training on computer-controlled machines.

Question Number : 30 Question Id : 9717421806 Question Type: MCQ
Correct Marks: 1

According to the writer of the passage, more female students
should join the mechanical engineering programme because:

Options:
1. ¥ much of the physical work required earlier in the
programme has been replaced by computerised activities.

2. = more girls join the mechanical engineering programme
in other countries like the USA.

3. = there is a bright future for them in this sector as facts and
figures show.

4. = women are not inferior to men in any walk of life in
today’s world.

Sub-Section Number: 2
Sub-Section 1d: 97174223
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 9717421798 Question Type: MCQ
Correct Marks: 1

Parts of the following sentence are given as options. Identify
the part that has an error.

The carpenter losing his new saw yesterday.



Options:

1. * The carpenter
2. v losing

3. # his new saw
4, = yesterday

Question Number : 32 Question Id : 9717421799 Question Type: MCQ
Correct Marks: 1

Parts of the following sentence are given as options. Identify
the part that has an error.

The leaves are falling quick because autumn has begun.

Options:

1. = are falling
2. v (Quick

3. = because
4. = has begun

Question Number : 33 Question Id : 9717421800 Question Type: MCQ
Correct Marks: 1

Parts of the following sentence are given as options. Identify
the part that has an error.

A research has suggested that constantly watching content on
mobile phones was responsible for remarkably falls in
students’ scores in languages and arithmetic.

Options:

1. = has suggested

2. » watching content on mobile phones
3. * was responsible

4. v remarkably falls

Question Number : 34 Question Id : 9717421796 Question Type: MCQ



Correct Marks: 1

Select the most appropriate option to fill in the blanks.

Yoga 1s becoming more and more popular the world.
Most people know yoga as a kind of which aims at
developing strength and flexibility.

Options:

1. = through; spirituality
2. ® over; sport

3. v around; exercise

4. = about; philosophy

Question Number : 35 Question Id : 9717421797 Question Type: MCQ
Correct Marks: 1

Select the most appropriate option to fill in the blanks.

World Oceans Day 1s a day to think the extremely
important role that the oceans play in all our lives, the
dangers that are facing our and the actions we can
take to protect them.

Options:

1. = for; earth

2. v about; oceans
3. = for; oceans

4. = about; earth

Question Number : 36 Question Id : 9717421793 Question Type: MCQ
Correct Marks: 1



Parts of a sentence are given below in jumbled order. Arrange
the parts in the right order to form a meaningful sentence.

A. inside the mall are ¥25 per hour
B. and less for two-wheelers

C. for four-wheelers

D. charges for parking

Options:

1.+D,AC B
2.+ D,B,AC
3.=D,C,BA
4. %= D, A B, C

Question Number : 37 Question Id : 9717421794 Question Type: MCQ
Correct Marks: 1

Pick the odd sentence out from the given paragraph.

During the first years, there were no special movie theatres.
Films were often shown in buildings which had formerly
been stores. It is often said that movies are an American
invention, but this is not entirely true. Each member of the
audience paid just a nickel (five cents) to watch a movie. At
this low price, many people could afford to go to the movies
in these buildings.

Options:

1. « It is often said that movies are an American invention,
but this is not entirely true.

2. = Fllms were often shown in buildings which had formerly
been stores.

3. = At this low price, many people could afford to go to the
movies in these buildings.



4. = Each member of the audience paid just a nickel (five
cents) to watch a movie.

Question Number : 38 Question Id : 9717421795 Question Type: MCQ
Correct Marks: 1

Arrange the sentences in a meaningful order to make a
logical paragraph.

A. The released documents have not provided any sensational
new information on the JFK assassination.

B. The American government has released over 3000
documents relating to the assassination of John F. Kennedy.
C. The President, however, has ordered some of the
documents with sensitive information to be held back.

D. The public had hoped that the released documents would
bring more light into the former president’s murder.

Options:

1.« D,ACB
2.« A D,C B
3.+« B,A D, C
4.vB,CAD

Question Number : 39 Question Id : 9717421789 Question Type: MCQ
Correct Marks: 1

Select the most appropriate option to fill in the blank.

Raghav is the monitor of class because he i1s a well
behaved boy.

Options:

1. = he
2. ¢ his
3. = him



4. = its

Question Number : 40 Question Id : 9717421790 Question Type: MCQ
Correct Marks: 1

Select the most appropriate option to fill in the blank.

further orders, he would be Kept in police custody.

Options:

1. v Pending
2. = Barring
3. » During

4. = Regarding

Question Number : 41 Question Id : 9717421791 Question Type: MCQ
Correct Marks: 1

Complete the below paragraph coherently and meaningfully
by choosing the best option.

Elephants are found in both, India and Africa. The African
elephant is different from the Indian one in some respects.

In fact, many would consider them to be two different
species.

Options:

1. = They live in herds in the jungle.
2. v They are larger, and have longer tusks and bigger ears.

3. » They are naturally shy animals and like to keep away
from humans.

4. = They live entirely on grass, roots and trees.

Question Number : 42 Question Id : 9717421792 Question Type: MCQ
Correct Marks: 1



Select the most appropriate option to complete the paragraph
logically.

According to official data, 67 people were Killed in Wayanad
in the last decade due to man-animal conflict. Besides, 158
farmers and tribals:

Options:
1. = took out a silent march to pay tribute to their beloved
elephant.

2. * have abandoned cultivation due to frequent raiding of
crops by elephants.

3. » would return to their usual turf between Sulthan Bathery
and Pulpally area.

4. v were injured from animal attacks in the same period.

Question Number : 43 Question Id : 9717421786 Question Type: MCQ
Correct Marks: 1

Select the most appropriate synonym of the given word.

EVOLVING

Options:

1. v Growing
2. = Static

3. = Constant
4, = Steady

Question Number : 44 Question Id : 9717421787 Question Type: MCQ
Correct Marks: 1

Select the most appropriate synonym of the given word.

RECONCILE

Options:



1. = Alienate
2. v Synthesise
3. = Estrange
4. = Separate

Question Number : 45 Question Id : 9717421788 Question Type: MCQ
Correct Marks: 1

Select the most appropriate ANTONYM of the given word.

CONSISTENT

Options:

1. = Congruous

2. = Harmonious
3. » Dependable
4. v Incompatible

Question Number : 46 Question Id : 9717421783 Question Type: MCQ
Correct Marks: 1

Fill in the blank with the most appropriate phrase.

Due to her height, Nidhi in her class.

Options:

1. v stands out
2. » stands over
3. % stands up
4. = stands by

Question Number : 47 Question Id : 9717421784 Question Type: MCQ
Correct Marks: 1

Fill in the blank with the most appropriate option.

The book I bought yesterday three parts.

Options:



1. = comprises into
2. » comprises from
3. » organises into
4. v consists of

Question Number : 48 Question Id : 9717421785 Question Type: MCQ
Correct Marks: 1

Fill in the blank with the most appropriate idiom.

A spirit of unrest seems to be after the curfew was
imposed in the town.

Options:

1. = out of the way

2. v 1n the air

3. = out of the question
4. = behind the scenes

Question Number : 49 Question Id : 9717421781 Question Type: MCQ
Correct Marks: 1

Select the option that can be used as a one-word substitute for
the given group of words.

Relating to sound

Options:

1. = Aesthetics
2. » Pneumatics.
3. = Kinetics

4. v Acoustics

Question Number : 50 Question Id : 9717421782 Question Type: MCQ
Correct Marks: 1



Select the option that can be used as a one-word substitute for
the given group of words.

A disease prevalent over a large area

Options:

1. » Rampant
2. v Epidemic
3. = Contagious
4. = Viral



